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BEAEK AT MATERF —Cut) LBR:36

By DEFEIBEL : F b fELA—J/LNe. 1 2 3 5 6 1213 1516 17 18
B K 2| ouT | IN |TOTAL HDCP @ NET | f& = |
(=T - T 35 41 76 7.2 68.8  *
2 E B = 50 43 93 22.8 702 | %
3 B B & 46 45 91 20.4 706 | %
4 H ot A B 41 43 84 13.2 708  *
5 IR OF o 41 42 83 12.0 710 | %
6 = B E B 40 41 81 9.6 714 | %
7T B H#H — = 47 45 92 20.4 716 | %
8 F FH B = 44 41 85 13.2 718 %
9 & < F A 40 44 84 12.0 720 %
10 A B X B 42 42 84 12.0 720 | %
" 2 K {Z 37 35 72 0.0 72.0

12 # #H + = 45 44 89 16.8 72.2

13| & 8 = B 39 38 77 48 72.2

4 K H = 42 45 87 14.4 72.6

15 | & BH & X 41 40 81 8.4 726 | *
16 # K F # 39 40 79 6.0 73.0

17 | & B # 47 49 96 22.8 73.2

18 | % it F| #0 40 38 78 48 73.2

19 | {E & K% i 39 39 78 48 73.2

20 B IR th B 39 39 78 48 732 | %
21 & B R B 45 45 90 16.8 73.2

22 [ BB IE =X 47 48 95 21.6 73.4

23 & Bl 17 47 42 89 15.6 73.4

24 | F ¥ 2 & 43 40 83 9.6 73.4

25 E-a4sL—Y 40 40 80 6.0 740 | %
26 [ B8 & BA 48 48 96 21.6 74.4

27 | ®m B X X 42 41 83 8.4 74.6

28 /h A B E 43 46 89 14.4 74.6

29 A X E B 43 40 83 8.4 74.6

30 = 1B g 45 38 83 8.4 746 | %
3 8 B H & 42 40 82 7.2 74.8

32 & ¥ I 49 44 93 18.0 75.0

B FE B K B 41 40 81 6.0 75.0

34 I R = 44 42 86 10.8 75.2

3B B/ H = 42 37 79 36 754 | %
36 | B E 46 45 91 15.6 75.4

37 & H = B 49 47 96 20.4 75.6

8 &k B F I 45 45 90 14.4 75.6

39 Wi U1 B X 48 47 95 19.2 75.8

40  F E ¥ B 49 51 100 24.0 760 | %
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By DEFEIBEL : F b fELA—J/LNe. 1 2 3 5 6 9 1213 1516 17 18
B K 2| ouT | IN |TOTAL HDCP @ NET | f& = |
M1 = B OB 43 44 87 10.8 76.2

42 = H E = 42 45 87 10.8 76.2

23 = B B X 47 46 93 16.8 76.2

4  INER ST 46 52 98 21.6 76.4

45 Il E A B 49 49 98 21.6 764 | %

46 I R OF 50 48 98 21.6 76.4

47 v R X fE 39 40 79 2.4 76.6

48 K M IE & 53 50 103 26.4 76.6

49 I R OB E 48 49 97 20.4 76.6

50 Il 2 #£ B 48 48 96 19.2 768 | %

510 [/ R B O=E 43 41 84 7.2 76.8

52 AF W # 48 42 90 13.2 76.8

53 H 3 ZE 44 46 90 13.2 76.8

5 HF B B E 41 43 84 7.2 76.8

50 |t fE BB = 49 46 95 18.0 770 | %

56 £ < K B 46 49 95 18.0 77.0

57 )\ & F B 50 45 95 18.0 77.0

58 &= B E X 39 43 82 48 77.2

59 P B OE B 49 51 100 22.8 77.2

60 & & B E 51 48 99 21.6 774 | %

61 |4 HB H = 48 50 98 20.4 77.6

62 & H ZE B 44 41 85 7.2 77.8

63 %I M FH Al 43 42 85 7.2 77.8

64 B B = B 49 47 96 18.0 78.0

65 E H 47 49 96 18.0 780 %

66 | f &8 IE BA 47 41 88 9.6 78.4

67 & B B 53 50 103 24.0 79.0

68 S Hl #4 50 54 104 24.0 80.0

69 & B IE & 54 43 97 16.8 80.2

7 B WM B F 51 50 101 20.4 80.6  *

71 M & OB X 55 56 111 30.0 81.0

2 B R F I 51 48 99 18.0 81.0

73 ROOB 49 47 96 14.4 81.6

74 % E B Z 46 50 96 13.2 828  *

75 I B OIE F 51 52 103 18.0 85.0
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